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1
Introduction

In last meeting, a WF on inter-band EN-DC power control has been approved. In order to guarantee the total transmit power of LTE and NR is less than PEN-DC total, the network configure the X scaling value for UE to indicate whether to scale or drop.RAN4 will further discuss four candidate X values.
In this contribution we discuss how to define these four X values.
2
Discussions
According the previous discussion, NR have to be dropped if UE calculates that it has to scale more than X value configured by RRC signal to guarantee the total transmit power of LTE and NR is less than or equal to the PEN-DC total. The candidate X values are [0 6 FFS FFS]. Only one value should be configured every time. In this meeting, the main task is to define the specific value for X. An accurate X is necessary to avoid the meaningless power consumption and guarantee UL throughput. 
Larger X than the practical required value means NR could only transmit with so little transmit power that the radio link fail. This could cause power consumption issue. 
Less X than the practical required value means NR is dropped even if the radio link could success and then the UL throughput is limited. 
Different practical transmit power may require different X value. The UE with better channel condition may need less transmit power and support larger power back-off and the larger X value can be configured. Therefore when we define the candidate value for X, the UE practical channel condition or other network conditions have to be taken into account. 
Observation1: When we define the specific value for X, UE practical UL transmit power related to the channel state have to be taken into account.
In order to define these X values, we need to clarify how to handle these four candidates X values and whether different UE capability should be taken into account.
Suppose that NR calculate it must scale Y dB transmit power to guarantee the total LTE and NR power is less than the PEN-DC total. If Y is less than X, then NR doesn’t need to be dropped and only Y dB power back-off is enough according to the dynamic power sharing criterion. However, it is possible that some UEs can’t support Y dB scaling and NR have to be dropped even if the calculated scaling value Y is less than the configured X value. In this case, smaller X value may be reasonable.
Therefore, we need to clarify whether all UE need to support X values before defining the specific value. 
There are two options for X value definition.

1) All UEs should support these four X values

a) In this case, UEs with better capability have to sacrifice NR UL to compromise with the other UEs supporting less X value.
2)  Some extreme X value is reserved for the UE with better capability.
Observation2: We need to clarify how to handle these four candidates X values and whether different UE capability should be taken into account.
3
Conclusions 

In this contribution we have discussed how to define and handle these four X values, we get the following observations.
Observation1: When we define the specific value for X, UE practical UL transmit power related to the channel state have to be taken into account.

Observation2: We need to clarify how to handle these four candidates X values and whether different UE processing capability should be taken into account.
